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m Conventional Questions ]

Total stopping sight distance = 110.29 m

Solution : 1

Solution : 3
Length of transition curve = 70.32 m

Solution : 4
Length of valley curve = 200 m
Lowest point is situated at a distance of 104.44 mm from starting point.

Solution : 6
(a) Stopping sight distance = 281.82m
(b) Overtaking sight distance = 394 m

Solution : 7
Chainage at the beginning of second transition curve = 96.4 + 6.77 = 103.17 chains

Solution : 8
Safe operating speed = 75.70 kmph
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m Conventional Questions ]

Solution : 1

N= 3 lanes
Solution : 2

Q, = 3939 PCU/hour > 2875 PCUs/hour.
Assuming F?emry =20m [15mto 25 m-IRC]
Reentratislang = 133 x20=26.6m=27m
Ryi = 2x20=40m

Solution : 3

(i) 73.06s, (i) 26.18s,34.82s
Solution : 4

33.47 kmph, 30.14 kmph

Solution : 5
L= 2(M + m)gh
min M
Solution : 6
Available reserved capacity = 636.56 PCU/hr
Solution : 8
595.4PCU/hr, 42kmph, 46.15kmph
Solution : 9
0.2veh/s, 2e7?
Solution : 10

V, =22.31kmph, Vg=33.19kmph

Hence OK
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m Conventional Questions ]

Solution : 1

Bituminous concrete 5cm
Broken Stone and gravel 3.33cm
Soil Kankar 14.02 cm
Sandy soil 17.34 cm
Sub Grade

(Pavement Section)

Solution : 2
Pavement section consist of 40.13 cm base course and 7 cm thick bituminous mat.

Bituminous Mat, E = 900 kg/cm?

Base course, E, = 350 kg/cm?

40.13cm |7 cm

AN NN N2 AN

Solution : 4
Critical combination of stress in summer mid-night = load stress + warping stress — friction stress
= 21.17 + 18- 0.81 = 38.36 kg/cm?

Critical combination of stress in summer midnight at corner = 17.91 + 4.67 = 22.58 kg/cm?

Solution : 5
Provide spacing of expansion joints =9 x 4.5 =40.5m

Solution : 6
Total length of tie bar = 42 cm
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